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QUESTION 1

An administrator manages a cluster containing Production and Test VMs. Production VMs run on a VSS
port group and a storage array separate from the Test VMs. The administrator wants to prevent large
(>500GB) file transfers in Test from impacting Production.

Which two configuration changes should the administrator make to achieve this? (Choose two.)

A. Migrate the VSS port groups to VDS port groups.

B. Install a second virtual NIC in the Production VMs.

C. Move the Production VMs to a resource pool with a memory reservation.

D. Enable the Test VMs to a dedicated folder with CPU shares set to low.

Correct Answer: AB

QUESTION 2

Which configuration could prevent an administrator from performing a vSphere vMotion migration?
A. CPU affinity is enabled on the VM.

B. The ESXi hosts use IPv6 addresses.

C. The VM has an RDM in virtual compatibility mode.

D. 1GbE adapters are in use for the vMotion network.

Correct Answer: A

QUESTION 3

Which action should be taken to ensure vSphere Update Manager (VUM) is available?
A. Download VUM from myVMware.

B. Consider Windows based vCenter for compatibility.

C. Enable VUM in the vSphere Client.

D. Install VCSA.

Correct Answer: C

QUESTION 4
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A vSphere Administrator configures Quick Boot to restart an ESXi host without rebooting the physical
hardware.

In order to troubleshoot any ESXi Quick Boot issues which log file needs to be reviewed?]

A. vmkeventd.log

B. vmkernel.log

C. vpxa.log

D. loadESX.log

Correct Answer: D

QUESTION 5

A vSphere administrator discovers the size of the .vswp file for a VM with 2 vCPUs and 4GB of memory is
zero.

What could be the cause?

A. All VM memory is reserved.

B. Memory reservation is not set.

C. VM is running on a snapshot.

D. VM is in a suspended state.

Correct Answer: A

QUESTION 6

A vSphere administrator needs to quickly move a critical VM from an AMD-cluster to an Intel-cluster. How can the
vSphere administrator move the VM?

A. vSphere Storage vMotion
B. vSphere encrypted vMotion
C. vSphere vMotion

D. Cold Migration

Correct Answer: D

Reference: https://d12vzecr6ihe4p.cloudfront.net/media/966034/wp-virtual-machine-migration-methods-invsphere.pdf
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QUESTION 7

An administrator runs vSphere Infrastructure in the following configuration:
1.

Single vCenter

2.

Multiple vCenters

3.

Multiple clusters under each data center, all with identical hardware The administrator wants to use host profiles to
manage the hosts. Where should the administrator attach the host profile?

A. vCenter object
B. each cluster

C. each data center
D. each folder

Correct Answer: B

QUESTION 8

An administrator is deploying a new mission critical database. The database requirements are 12 vCPUs and 24GB of
RAM.

What can the administrator enable for the lowest possible downtime?
A.DRS

B. vSphere replication

C. fault tolerance

D. proactive HA

Correct Answer: D

QUESTION 9

A cluster of vSphere 6.5 and 6.7 hosts all have identical hardware. VMs are created on the 6.7 hosts with virtual
hardware version 14. During routine maintenance on the 6.7 hosts, the VMs are unable to migrate to the 6.5 hosts.

Why are the VMs unable to migrate to the 6.5 hosts?
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A. The virtual hardware version is incompatible with 6.5
B. VMware Tools version is upgraded

C. EVC mode is disabled

D. DPM is configured incorrectly

Correct Answer: C

QUESTION 10

A vSphere administrator has a requirement to add the identity source with the Integrated Windows Authentication option
on vCenter Server with External Platform Services Controller.

Which two conditions should be met to complete the task? (Choose two.)
A. Platform Services Controller must be able to reach the AD domain.

B. vCenter Server should be joined to AD Domain.

C. External Platform Services Controller should be an appliance.

D. External Platform Services Controller should be joined to AD Domain.
E. vCenter Server must be in Enhanced Linked Mode configuration.

Correct Answer: BD

QUESTION 11

Which rule should be used in an SDRS environment to create a VM requiring virtual disks be kept on different
datastores?

A. VM Anti-Affinity Rule

B. Intra-VM VMDK Affinity Rule

C. VM-Host Affinity Rule

D. Intra-VM VMDK Anti-Affinity Rule
Correct Answer: D

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.resmgmt.doc %2FGUID-
FC84ECD9-C7DA-4D27-B5EC-0C8E396A6800.html

QUESTION 12
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What is the outcome when two affinity rules conflict?
A. VMs will continue to migrate

B. Rules are applied based on priority

C. Only one rule can be enabled

D. Random rule enablement occurs

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.resmgmt.doc/GUID69C738B6-5FC8-4189-9CB5-DD90A5A05979.html

QUESTION 13

Which two tasks are allowed in the X-Lence data center? (Choose two.)

=7

“vcenter.vclass.local

"] X-Lence Datacenter == Group 1: Administrator
[ AX-Test VMs Propagate to children

[E5] AX-1000
L#H Ax-850

[ 1 Database VMs

] XRK-01
5571 XRK-02
(5] XRK-03

Members of Group1: , Members of G roup2: |
User A. User B User A. User B

Group 2: Read-Only

A. User C can convert AX-850 to VM.

B. User B can delete from disk XRK-01.

C. User A can take a snapshot on XRK-01.
D. User A can take a snapshot on AX-1000.

E. User C can view configuration of AX-1000.
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Correct Answer: BD

QUESTION 14

What should be installed on a VM to assist with VM-to-host time synchronization?
A. VMware Tools

B. VRA guest agent

C. vVROps agent

D. Guest Operations Manager

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.vm_admin.doc/GUIDCOD8326A-
B6E7-4E61-8470-6C173FDDF656.html

QUESTION 15

A vSphere administrator is trying to create a resource pool but the option is grayed out. What must be enabled before
creating a resource pool?

A.DRS

B. Storage DRS
C.EVC

D. HA

Correct Answer: A

Reference: https://kb.vmware.com/s/article/1004098
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